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Suzuka plots and splits are written as turns +/- spaces @/> race best split 2nd best 3rd best

3 laps; F1 Q 3 acc ss aSpd top slips| cl| 8 8 83 lapl| 81 8 83 lap2| 81 82 lap 3|ptsnow
Jan-2011+ £ = brk prm aPos acc tests| turn| turn turn turn pit?| turn  turn  turn pit?| turn turn 83 trn|season
driver, team e e top opt aGap brk badbice| split| split split split tire] split split split tire] split split split| team

Mike spd 60 20 125.1 10/1 P11 P10 P6 P9 1548 P7 P6 Pl P1L P1 24
Lotus w+s 40 9w 54 8/1 3+1 6+4 11+0 17+3 yes 21+3 26+1 29+2 no 33+1 40+6 43+4 28
p/gap 160 15w 6.5 10/1 3+6  6+9 443 O JEl 7+5 32 54
Chris L spd 60 40 118.2 5/1 P6 P6 P4 P7 15+5 P8 P7 P2 13+1 P2 P2 144 21
Mercedes W+s 60 9w 4.9 4/2 3+5 5+1 17+4 yes 21+2 26+0 30+5 no 34+3 40+1 44+1 21
p/gap 7.2 4/1 3+6 5+2 4+2 O  4-2 BERAN 4+5 4-2 6-2 4+0 45

| 13+4

118.2 4/0 15+5| P2 P4 P11 14+0| P12 P12

. 6.4 6/1 19+1 25+2 31+4 vyes

,,,,,,,,,,,,,,, 7.0 6/1 6+1
spd 120 117.8 14/1 P1L P8 15+3 P9 P11 P8 P6

Jordan wW+s 5.9 3/0 10+0 17+3 yes 21+1 27+1 30+1

p/gap 5-14 8.0 5/0 Sl 5+3 P 4-2 6+0 3+0 6-2

Fabio spd

120 117.8 5/1 P4 | P3 P2 P6 P6 P8 P3 14-1| P3 PS5 12
Mercedes w+s 25 4.5 9/0 2+1 | 5+4 10+0 16+4 yes |20+1 26+0 30+5 no |34+2 41+6 24
o plgap 6-14 6-14 o| 611211 2+3 | 5+6 /64N 4+4 P | 43 61 445 43 7+4 45
Bruce R spd 140 80 1+1]115.1 14/1 P8 | P7 P5 P10 15+6( P10 P9 P5 13+2( P6 P10 10
Arrows w+s 1552 7.6 4/1 3+3 | 5+0 11+1 17+2 yes |21+1 27+4 30+4 no |34+0 41+0 10
mmmmmmmmm p/gap 7-15 7-15 P 9.6 16/1 3+7 | 5+4 6+1 4+1 O 4-2 6+3 3+0 4-4 740 10
will spd 140 80 1+1]120.9 4/2 P10 | P11 P11 P4 15+5( P3 P3 P12 14+0( P11 P10 8
Sauber w+s 2w 1533 8.6 5/2 3+1 | 6+1 12+2 15+1 no |19+1 25+2 31+1 vyes |35+2 42+7 14
[ p/gap 8-15 9-15 P 9.1 31 3+5 [ 6+5 6-1 3-1 440 6+1 41 O | 4-1 745 50
Bruce L spd 120 60 0+0( 114.7 16/4 P12 [ P12 P12 P5 16+100 P5 P2 P7 123 P5 P4 6
Jordan w+s o012 7.8 6/1 3+0 [ 6+1 13+5 16+5 no [19+2 25+3 30+2 yes |35+6 40+0 21
mmmmmmmmm p/gap 9-16 10-16 P 86 1/1 3+5 | 6+6 7+4 3+0 33 6+1 3-1 O | 5+4 5-6 35
Bruno spd 120 60 1+2| 115 14/2 P7 P8 P10 P12 15+3| P11 P12 P9 14+7( P10 P8 4
Ferarri w+s 20071 9.9 7/3 3+4 | 645 12+3 17+0 yes |21+0 27+1 3147 no |35+3 41+1 12

p/gap 10-16 11.4 6/1 6-2 33 O |4+0 6+1 446 4-4  6-2

Giuseppe spd 100 116.4 7/0 P9 P3 15+6 P4 P5 P10 14+2 P9 P9
Ferarri W+s -20 15w 7.3 8/3 12+4 15+3 no 19+2 25+1 31+5 yes 35+4 41+0
p/gap 11-17 12w 6s P 7.6 7/2 6+0 3-1 41 61 4+4 O =W 64




Positions by Turn
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Gaps by Turn (spaces behind leader)
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